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&5 X 4 Er%r'n? 'Fﬁﬁﬁ‘(‘z)@ﬂﬁ%’é jj(:iatr:f)é X 4 Tﬁﬁg@%ﬁ{ﬁfw ‘(.%,r']:c; jj(lf’)\fr:_?)é X 4 E.é,r‘n‘c; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(lf’)\fr:_?)é X 4 J:ﬁﬁ;ﬁ\(‘z)(btt%} ‘(r%r‘n? jj(:i;cn?)é
7 100kN/mM#{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 3.56 44.96 | Thst | 000 ~ 3566|219 11.07 zh st 1.00 | 5.00 ~ 5.00 44.96 | ThLS | 5,00 ~ 6.00)| 2.19 11.07
2 100kN/mM%E{BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
5 100kN/m%E#8z5| 1.00 | 000 ~ 302| 14807 |3m&EBz5| — ~ — — — | 100kN/mM%E#z25 | 1.00 | 11.5¢4 ~ 2745 148.07 |3mEEZ5 - ~ — — —
s 1.00 | 502 ~ 1081 100.00 | #nLSy | 0.00 ~ 1081 2.63 13.31 Zh st 1.00 | 5.00 ~ 1154 100.00 | =nhLst | 6.00 ~ 2745| 2.63 13.31
P 100kN/m%E#Z5| 100|000 ~ 223 13469 |3m&EEZE| — ~ — — — | 100kN/ Mm% 25| 1.00 | 1326 ~ 2487 134.69 |3mZEEZ5 - ~ — — —
s 1.00 | 223 ~ 1002 100.00 | #nLsy | 0.00 ~ 1002 2.80 14.17 zhLst 1.00 | 6.00 ~ 1326 100.00 | =hLst | 6.00 ~ 2487| 2.80 14.17
7 100kN/m%E#8z5| 1.00 | 000 ~ 265 14165 |3mEBZB| — ~ — — — | 100kN/M%&#82% | 1.00 | 11.62 ~ 2400| 14165 |3mEHBZS - ~ — — —
Thilst 1.00 | 265 ~ 1043 100.00 | TnLS | 000 ~ 1043| 2.64 13.37 TnList 1.00 ] 5600 ~ 1162 100.00| ZhLSt | 5,00 ~ 24.00| 2.64 13.37
3 100kN/m%E#Bz25| 1.00| 000 ~ 170 12608 |3mEEBZB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1379 ~ 2200| 126.08 |3mE#BZ5 - ~ — — —
Thilst 100|170 ~ 949 | 100.00 | FhLs | 000 ~ 949 2.62 13.22 TnList 100|500 ~ 1379 100.00 | ThLSt | 5,00 ~ 2200| 2.62 13.22
9 100kN/m%E#Bz25| 1.00| 000 ~ 232 15620 |3mEEBZB| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 12680 ~ 2442 136.20 |3mE#BZ3 - ~ — — —
Thilst 1.00 | 232 ~ 1011 100.00 | NS | 000 ~ 1011] 2.65 12.87 TnList 1005600 ~ 1280 100.00| ThLS | 5,00 ~ 2442 2.65 12.87
10 100kN/m%E#Bz25| 1.00| 000 ~ 120 11819 |3mEEZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1360 ~ 1866 11819 |3mE#BZ3 - ~ — — —
Thilst 100|120 ~ 899 | 100.00| FhLs | 000 ~ 899 | 2.60 1316 TnLlst 100 500 ~ 1360 100.00| ThLS | 5,00 ~ 1866 2.60 13.16
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




